20255d HI|AL A|ISE

Al ZE H| 1 2QA[ZE
zg] 2002 rRlWA} a5t BIMA felAlet ME o .
(Al‘ﬁﬂ%) 0830 0840 %%AI@' 7IXI'I 101_
:40~08: SHX|QF Chokx| H|E 2l =d ]
MDA 08:40~08:45 ] _I I | 05I=I
08:45~09:35 Il Ml(yp=e ¥y, gz=e $0) 50=
09:35~09:45 =S 102
:45~00: SRS Sokx| S 3l =
HoTA 09. 45~09 .50 | I 05|:l
09:50~10:40 Lot Adl(nzaEe yu, snEe 3u) 50=
10:40~10:50 & A 102
10:50~10: SHX|QF Efolx| dj& al Z=H =1
H3TAl 0 50~10 .55 | I 05|=l
10:55~11:45 Lot Adl(naEe yu, snEe 3u) 50=
11:45~11:55 = 4 102
H55~12. =H| x|} Erokx| nfF & F=H =
RATA 11. 55~12 F)O ! _I I I 05':l
12:00~12:50 Ho} Adl(mz=e o, 2z7=e 0) 50=




2025SHA T MHI| DAL A|ZFE(18H7| 2XIDAF @ 1,2,38HA)
07¢ 01 (&) 078 02¢ () 072 03 (=) 07¢ 042 (2)
1 2 3 4 1 2 3 4 1 2 3 4 1 2 3
sy | SE sz = 5t = =
= | men SRl 2o e 2o 221
30| |
2sHA &8} Mgt | (1,38 N I I 1o
s = = o] | 221 |opmo | og | HEAH| £3H B2 |
(22h
_ o] |
E.%J‘Id} (48h
S e : ol x| 7
= (4,54H od stst | |=2IEH 4y = | 25t sk
= st (5,68 | (5h 28t | ;:; T (Z;;
7|5t 5301 |
(65H) (6%H
Hof 2 o T ;
Saiet 2z Ea|f+ 215 gl 2lojet
S D73} e _— a2t | an olof}
e 2z Zpst| o (4,5%h) (659 ofj ]




